%
B %
¥ 5

=5

oo

¥ K

&

Do DN O Do

AH =

L) — - = 1] 5 PSS
# 4
RN
— BOEEB (B 3 47, 24 &)
I HIASCA Y 0 BE B U B RE Y 2 ( )
A BHEIZWL B s v C. 2 M2 A D. {8 4=/ ik
AR INEL A XS AP ZL AT RS XS BT, P A R B TR A R ( )
A.10g B. 20g C.50g D. 100g
- 0 [ A e T AR ) S ( )

AL T B. B % C. iy D. i

L20224F 10 A 12 B R4 “REIRE7SE IR IERIFIF, 7EKERZS “Wi” 9286 d, KBk 7E

TR ST PE T S FE“ [0 K5 7250 e N ) 48 B R b AR g, FRATULKBRER 1L . Fr B 5 1Y
Z By ( )
A. HbiER B. X C.“[ K57 D. H i 5 #% %

H & 5]
4 i 7 8 i

CEAER S TR 10 W B RS FE BT IR I R IE AR W A ML A B I T R AR A
W FAIEI G 5 T R TR R i A [ ( )
A HE B. fz 5% 3% C. K BB A D. # ALY
T AU B A ) A AT R B AR R A T LR Sk ( )
A — I RA N B. —fif R 5 A5 A 2 1)
C. 5 faiE i D. 5 LS
TR B = EORE (R A B AR T a3 T A T S A A TR K L v R K AR B IR T Y v R
I 7 v R K 11 S ( )
A, R B. ZBEHR C. e D. JG i H Hrp
AN T R B BT AL L /)N B A 7 AT RE B ) SN AR T B B kA
NI A5 1 o7 1 ( )
AL KPR SR B. SR /NKI A 37 B
C. /INE A 1 3 XL 5% D. i $7 7 I 1 i — He AR

oy | PEEA

“HEE(EI~BEBELISEU~ITE,BE28,#£305)

O, o A

8 2 [ 27 (T T 5 o5 25 7 J P A 1 R 42 g il L, 3 2

£ Ak 42 i W T
10. L L FRATTRE A A5 100 B B JC AL - 3 S IR O e e Je R i & A4 T B g s

T DR TR L T AL B S B 2T 4R A RE X 2 PR O i 2T 4 Y 9 R AL
AL 1o (L4 mn)


asus
八年级上学期期末考试卷 物理

asus

asus


11.

12.

13.

14.

15.

16.

17.

R VFZH 00 TG 5 1R B O PHEE & K BH S B i et TR 32 B BB 7oK

e AN 3 2 K IR B VR IR 2 I LA W 2 TR DA 917 2 9P JRE [ A
R R 7 (™)

B AR T AN R IR AR RS T ROBE 55 3 vT RE AR L (R o G L AR 7 s 4k ) A i)

AR TR CHEB B )+ T2 R i 5 A I
B (TSI IE
AN T o U A A — B i - AR 1 T 7 M A A (g
YA AL B BLGE s 0 R b1 PR TE T 05 7 o e B0 R 5
T i
L2 O R 0 7 KK C o TR R — (7 % b ARG R (R
VoK L1 CHE B A KA N B AR A
[ === ) " 4;\ D

i ) B i

| s—

35 6 T 3

14 M 15 16 M

LT 0% /N 33k K R 190 5 JF i e B L B - 2 B T M 97 A B T 67+ 15
VAR 1R ) 025 (L BT (5 ) s £ 4867 o — 2 D B
5 e 2 B :
IR < JEE K P2 T SR8 CD W % 2 T S5 RPT 45 AT f 0y "
YT A "R CD LA R :
BUAT th BB AR AL B A G BB O — R gl
f &A1 LA 51 60g 40, RNy 12em’ 16em’ I qol - /.. z
75 Bk (BEIH“A”E " B”) Bk, 25 03B 43 AR B : :

e’ WA BT SRR RO BE S KB R T2
[ %0 GRS 2. L

o A

=S WHEE (&S 9,4 10 47)

18.

19.

— IR S 120m B 5 4 LL 72km/h (93 BE 2 0d — P H A B 18 OB 4 B 1E bR 1E
PRI ] 2y 50s.3K «

(DRRE R Z DK

(DI N, — DR E LL 0. 5m/s M NS 2 e — T 22 D 7 Bl 7

¥ 73g MBS 267 WO HCE — B IS Ak IS FEEE L BB R 40em® AY T AR (20 . 1E
T 2 P E 22 5 AIRE AL R e A B b R B T A AL A
HFiHhy 833kg., K.

(D) B kA & E N £

(2) 5w B IG5 ™ Fh 3k ol 75 0 o AR U0 ) TR B SO A AR B &2 /0 ST K

% &
JERLF 5

PHLE 2o (L4 a0)


asus


o WA

m.EES (S 3 75,36 57)

20, BRI I /E S DT R ST R D AR S T TR & A R 1] BH AL
e N4t

&

21, AN AT I 7 HE VR TR oo ) AR R e A AR T R A R e ff
TR 7 R E B R e A Z A /(
'/

oy

o] B

AEKXESRAE(F 22 EGNME2 5.5 23~-21EEF 1
5,4k 30 &)

22. (DA FFWLR " P34 1 2 7 e 7R IR KRR B/ AR 70 K 28 Bl B B 7 3 i i
I A BRI il P i 3 1 U063 A1 1 A9 915 ]
)P BT 7R e i Yk AB fE Pl IR A'B
(3D 58 AT Hh e 2l i o™ 3 B Al s O %

N

B N 4
(1) (2)
22@[’5] 23 @K

23 WNE TR 45— AR R — it B 4 e 5 1, — o A B o, 3 sl AN R B R R o &
P [ I RO SR mﬁy&mmm
(1) 4 5 09 RUfe S o i A K Efxﬁﬂﬁﬂﬁfﬁﬁ%ﬂi%ﬂi kR
ok ik
(2>ﬁ1§’%ﬁﬁﬂtﬂ%ﬁﬂﬁk AT 43 5K 8RR R 1em, 3em . Sem. X & 0 T 58
H Y HIRER KR,

24 /NI TR T K 9 1 R R AR L R A5 S 6 2 N P TR L A TR 2 ok K T I A IR
JE 5 Tt E] 9 56 &R B 42 (CHedr BC BER K 1 s i 5 D

R/ =

A ey
H

(1) S50 3o 7 v, /N W ) W7 K 2 725 3 s ) AR 9 2 GERIE 7K ™ A ) B4 8
S IR AR
(2) H & 2 AT 052 55 v K e i o5 2 T,
(3D 1 4 g 7K A 2 s Ji 18 1sf ] o R SR BBCERY) 7 125 (5 —FEpAD,
(D S8 BRI 5 JR IR T B RN & EICT SR R 2E 2 B 1 Y 7K B
IR RS Cln [ D BT Y 7K (GREIH“RR B ANHE”) ik 1

WL 3 ul (Jh4 )


asus


25.

26.

27.

%Uﬁﬁﬁﬂﬂ?%%ﬁ“%%%’—ﬁ%ﬁﬁﬂ%ﬂﬁ% w7

(1) o i 4 CHE B 7307 9 B A 6 5 ;J“j

TEKF L, A /// ;;l/// B
(o) A A LI B S A e s A AR
SMTE R B 5 A 6 2 W3 B0 B 15 @58 % T &

B BIIR LS A R T A T A i

PR 10 1R 9/ B RN R ™)

(3RO T il B AR 04 100 B TG 3% L 7E O B B L B4R L Ul W1 SF T B T B A 1R
(ﬁiﬁ“i”ﬁ“@”){%c

CAD 3 AR ol T TGP 75 M 4R A 1 R AT 52 36 3 A Al 1 0 R 1 T IR AR A

WHPEEN  GEMCRNECRED LR,
Py B 2T /N g A O B G L S B R ST I B AR B LA
A B

Ocm 10 20 30 40 50 60f [0cm 10 20 30 40 50 60

H &
(D E SR e ™ B B RS . =3 1 oL 7E
O ME PR G5 BT b 195 0 45 K 11% ﬁt&@’éﬁﬁﬁ%ﬂﬁij cm,
(3 I H b iy e b A% 1) 15em 0 B 26 b L B 20y 0 B 2 T UK L B0l A 355 A
1) SR
() Fo—mh 2z g2 6 LB A 2 B s . AR G A7 8 B™) &b fig M %%
Sl 115 4 B8 ol P S O Y B R L B B RO (G775 Sl N A N1
“ \7"‘]“’,)
ST v R R 75/Eﬁl:ﬁﬁ@fﬁﬂ’mr“ INEL R 2EHEAT T R S5

50

40

30 (\

20

10

H & T

(DM KAV AE KT S5 T8 b e % 2 A R Ab s B LR B0 R T
TN o D] O 85 - iy B8R 1) R ol A A
(2) 0 H B AR TP RG 1 S 5T il 98g ) '{d“kk‘ﬂ":'jﬂ/]*jﬁﬁ(@*tfiﬂj\iﬁqj mel i
71~ o U] 2 T A R A AR R cm’ 5
(3) -5 A 0 8 A4 T A 1) TR E,ﬂiﬁﬁﬂ%ﬁyﬁmrﬁaﬂnlzlﬁwﬁ,mu%%*ﬁuﬂﬁ
RS 1) BT & g VA 10 2 N kg/m’,

(A o 7 [ AT o A AR I G0 SRS TR TR D A DU 00 e ) S0 8 2

R SR i DR i /N7 B A AE ™D

C5) I S8 TR %85 BE Iy » /N SCAELI 8 — 4> 38 DI A 9 %8 58 o L 368 O A A 4 7 o P

BRIt 7 968 0 A A9 % L It i S B AR AR

ORI 0 38 51 A1 1 B4 a5

@ 1) BEMR I AE S8 19 7K FH IR0 E B PR K A S AR 2

QU T B » BEAR B KPS 1 E s A2 28 A 3G B0 A IF B e i AR A v 26 B £
BB AEBEMBE L BRiC K I Y 07

@A 3G T8 MK R ECE IS » 1 BRI INZK ZE AR LA » P I D00 R R AR IR 8 R B s 5

@I A1 % I R IE N p= CH myvmo omy Fll o 79

AL 4t (JL4m0)

B

Ef


asus


—.1.B 2.D 3.A 4.C 5D 6.D 7.C 8.B
—9.%4 FEB 10.9% 0 1.4 4k 12.%7 W 13.9F4 akd 14,36
15. BAgdL > 16.30 42 =& 17.B 8 W

=.18. . (1Dv=72km/h=20m/s '.'v:% Jes=ut=20m/s X 50s=1000m

Ly=s5+L:=1000m+120m=1120m

L, _ 120m
v 0.5m/s

19. g . (Dmy=m, +m,=73g+267g=340g

(2t =240s=4min

_m, _ 340g 3_q & 3 3
== - =38. =8.5X
P=V, " 20em’ 8.5g/cm’=8.5X10°kg/m
_m___ 83kg 5
v p 85X 10'kg/m’ 0.098m

b

w20 TR TY PR LA AEA @Rk TY PF LI A RBETAN

MR MR ET Y P HF LERGRE, ZEHERT AR P&
oK) A

Er
,14

21. A P KA A BB B EBAKG R, 2 R IB AT R E . K Z 6 KA R

AR, KEREN AAERLEAKRRE LSRR TR,
£.22. 4 B BT &

(1) (2) (3)
23. (LK & (DrRE
24. (DARP ZAGIE (298 BRIV IBEHMP ARG KBRS RGRF)
N1
25.(LE (OHEFE AT QE WEE
26 (DEI—&E (2)10.0 Iz K B

M ADERAEL £ (240 (3)62 0.9X10° (Dfpk  (5) L%

my M,

4)


asus
八年上期末测试 物理 参考答案

asus


